C:# Finden eines aquivalenten Ausdrucks mit negativen Zahlen Name:

L 6se jede Aufgabe. Antworten
1 i essi i 5- 2 : . .
) \(/;/)TCh expression(s) are equivalent to -5 ) Which expression(s) are equivalent to -1/6 1
H 4 *
A.5-(7) - (-79)?
B. -5+ (-7) 1, 4 2
C.-5-(-7) A. 75+ (/9
D.5+(7) B. '1/6 + (+4/9) 3
1, 4
C. 75- (/9
4.
D. 75~ (+79)
5.
3) Which expression(s) are equivalent to 3.11 4) Which expression(s) are equivalent to
+(-6.9)? 213+ (-7.3)? 6.
A.3.11+(6.9) A.-2.13-(7.3)
B.-3.11 + (+6.9) B.2.13 + (+7.3) 7
C.-3.11- (6.9) C.2.13-(-7.3)
D.3.11- (+6.9) D.2.13+(-7.3) .

5) Which expression(s) are equivalent to 7.6 6) Which expression(s) are equivalent to 5 +

- (+9.8)? (+9)?
A.7.6+(-9.8) A.-5-(-9)
B.-7.6- (9.8) B.-5-(9)
C. 7.6+ (+9.8) C.5-(9)
D.-7.6 + (+9.8) D.5+(9)

7 i essi i 8 . . . 4
) Which expression(s) are equivalentto 4.5 9) Which expression(s) are equivalent to ¥

+(-7.19)? X

A.-45-(7.19) +(+/5)?

B. 4.5 - (+7.19)

C.-4.5- (+7.19) A. -4/5 - (+4/5)

D.-45+ (+7.19) B, 4/5 N (4/5)
C. 75~ (7
D. 75- (7

1-8 |88|75|63]|50]38]25[13] 0 |
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Ch Finden eines aquivaenten Ausdrucks mit negativen Zahlen Name: L 6sungsschlussel

L 6se jede Aufgabe. Antworten
1) Which express | 5.2 . |
) \(/;/)I"l)lch expression(s) are equivalentto -5 -  2) Which expression(s) are equivalent to _1/6 ) 5
H 4 -
A.5-(7) - (-79)?
B.-5+(-7) 1, 4 2 B
C.-5-(-7) A. 75+ (/o)
D.5+(7) B. -1/6 + (+4/9) 3. D
1, 4
C. 75- (/9
1 4 4. A
D. 75- (+/9)
5, A
3) Which expression(s) are equivalent to 3.11 4) Which expression(s) are equivalent to
+(-6.9)? 213+ (-7.3)? 6. D
A.3.11+(6.9) A.-2.13-(7.3)
B.-3.11 + (+6.9) B. 2.13 + (+7.3) 7. B
C.-3.11- (6.9) C.2.13- (-7.3)

5) Which expression(s) are equivalent to 7.6 6) Which expression(s) are equivalent to 5 +

- (+9.8)? (+9)?
A.7.6+(-9.8) A.-5-(-9)
B.-7.6- (9.8) B.-5-(9)
C. 7.6+ (+9.8) C.5-(9)
D.-7.6 + (+9.8) D.5+(9)

7 i essi i 8 . . . 4
) Which expression(s) are equivalentto 4.5 9) Which expression(s) are equivalent to ¥

+(-7.19)? X

A.-45-(7.19) +(+/5)?

B. 4.5 - (+7.19)

C.-4.5- (+7.19) A. -4/5 - (+4/5)

D.-45+ (+7.19) B, 4/5 N (4/5)
C. 75~ (7
D. 75- (7

1-8 |88|75|63]|50]38]25[13] 0 |
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C:# Finden eines aquivalenten Ausdrucks mit negativen Zahlen Name:

L 6se jede Aufgabe. Antworten
1 2 . - .
) Which expression(s) are equivalent to 7/8 ) \(/\Z)“,)Ch expression(s) are equivalent to 3 +
) :
- (7)? A.3-(4)
7 2 B.3+ (4)
A. Jg+ (+73) C.-3+ (+4)
B.-/g- (-7a) D.-3- (+4)
7, 2
C.-/g- (73
D. /g + (-2/3)
3) Which expression(s) are equivalent to 4)  Which expression(s) are equivaent to -8.8
4.78 - (-9.15)? +(-2.7)?
A.-4.78 + (-9.15) A.-88- (+2.7)
B. 4.78 + (+9.15) B.88-(-2.7)
C.4.78 - (9.15) C.88-(2.7)
D.-4.78 - (+9.15) D. 8.8+ (+2.7)
5) Which expression(s) are equivalentto 6 + 6) Which expression(s) are equivalent to -9.3
(+1)? - (-8.86)?
A.6+ (1) A.9.3-(8.86)
B.-6-(+1) B.-9.3 + (+8.86)
C.-6-(1) C.9.3-(-8.86)
D.-6+(+1) D. 9.3-(+8.86)
7) : . . 1, 8) . . _ 4
Which expression(s) are equivalent to - /5 Which expression(s) are equivalent to /s
1 1
N&AY +(75)?
A. -1/2 - (+1/6) A. -4/5 - (+1/5)
B. 7y + (+7) B. 7+ (/)
1 1 4 1
C.-/Z (-/6) C. /5+(+/5)
1 1 4 1
D.-/5+ (+7g) D.-/5-(-75)
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Ch Finden eines aquivaenten Ausdrucks mit negativen Zahlen Name: L 6sungsschlussel

L 6se jede Aufgabe. Antworten
1 2) whi ess |
) Which expression(s) are equivalent to 7/8 ) \(/\Z)“,)Ch expression(s) are equivalent to 3 + 1 D
2 ' '
- (7)? A.3-(4)
7 2 B.3+(4) 2 A
A. Jg+ (+73) C.-3+ (+4)
B. /5~ (7o) D.-3-(+4) 3 B
7, 2
C.-/g- (73
7 2 4. A
D. /g+ (-7
5, A
3) Which expression(s) are equivalent to 4)  Which expression(s) are equivaent to -8.8
4.78 - (-9.15)? +(-2.7)? 6. B
A.-4.78 + (-9.15) A.-8.8- (+2.7)
B. 4.78 + (+9.15) B.8.8-(-2.7) 7 D
C. 4.78 - (9.15) C.88-(27)
D.-4.78 - (+9.15) D.8.8+ (+2.7) . C

5) Which expression(s) are equivalentto 6 + 6) Which expression(s) are equivalent to -9.3

(+1)? - (-8.86)?
A.6+(1) A.9.3-(8.86)
B.-6-(+1) B.-9.3 + (+8.86)
C.-6- (1) C.9.3-(-8.86)
D.-6+(+1) D. 9.3-(+8.86)

L Which expression(s) are equivalent to -1/2 8 Which expression(s) are equivalent to 4/5
WAL VAL
A. -1/2 - (+1/6) A. -4/5 - (+1/5)
B. 7y + (+7) B. 7+ (/)
C.- 7o+ (-7 C. 7+ (+7)
D. -7y + (+7) D. Y- (-7
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C:# Finden eines aquivalenten Ausdrucks mit negativen Zahlen Name:

L 6se jede Aufgabe. Antworten
1) Which expression(s) are equivalentto 7.7 2) Which expression(s) are equivalent to -7.6
+(+4.4)? + (+2.65)? 1
A.-7.7 + (-4.4) A. 7.6+ (2.65)
B.-7.7 + (+4.4) B. 7.6 - (+2.65) 2
C.7.7+(4.4) C.-7.6+ (-2.65)
D. 7.7 - (+4.4) D.-7.6 - (-2.65) ;
4.
5,
3 2, 4 i essi [
) Which expression(s) are equivalent to /. 10 ) Y_VPGIC;;SX pression(s) are equivalent to 4.7 6
) oY :
- (+79)? A.-4.7+(-6.7)
s 3 B.-4.7- (6.7) .
A.-710-(-79) C.47-(6.7)
2 3 D.4.7-(-6.7
B. /10 - (/6) ( ) 8.
2 3
C. 710+ (+79)
2 3
D. 710+ (7p)

5) Which expression(s) are equivalentto 6 + 6) Which expression(s) are equivalent to 8 -

(+2)? (-4)?
A.6-(-2) A.-8-(-4)
B.-6+(-2) B.-8- (+4)
C.6+ (-2 C.8+ (4)
D. -6+ (+2) D.8+(-4)

7 . . . 3 8 i ess i
) Which expression(s) are equivalent to /¢ 9 ) Xv(rl{Clh?;e;( pression(s) are equivalent to 2.9
2 17)"
+(74)? A.29- (-4.17)
3 3 B. 29+ (+4.17)
A.-74- (7)) C.2.9+ (-4.17)
3 3 -
B. _/9 ) (+/4) D.29-(+4.17)

C. 3/9+(+3/4)
3 3
D.-75- (/)
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Ch Finden eines aquivaenten Ausdrucks mit negativen Zahlen Name: L 6sungsschlussel

L 6se jede Aufgabe. Antworten
1) Which expression(s) are equivalentto 7.7 2) Which expression(s) are equivalent to -7.6
+(+4.4)? + (+2.65)? 1 C
A.-7.7 +(-4.9) A. 7.6+ (2.65)
B.-7.7 + (+4.4) B. 7.6 - (+2.65) 2 D
C.7.7+(4.4) C.-7.6 + (-2.65)
D. 7.7 - (+4.4) D.-7.6 - (-2.65) N B
4. D
5, A
3 4 . =‘~ .
) Which expression(s) are equivaent to 2/10 ) \4/_V(helc7r;oex pression(s) are equivalent to 4.7 6 C
2 7)" :
- (+79)? A.-4.7 + (-6.7)
) 3 B.-4.7- (6.7) 7 C
A.-710-(-79) C.47-(67)
2 3 D.4.7-(-6.7
B. 710- (75 6.7 8. A,B
2
c.”/ 10t (+3/6)
2 3
D. 710+ (79)

5) Which expression(s) are equivalentto 6 + 6) Which expression(s) are equivalent to 8 -

(+2)? (-4)?
A.6-(-2) A.-8-(-4)
B.-6+(-2) B.-8- (+4)
C.6+ (-2 C.8+ (4)
D. -6+ (+2) D.8+(-4)

7 . . . 3 8 i essi i
) Which expression(s) are equivalent to /¢ 9 ) Xv(r:ih?;e;( pression(s) are equivalent to 2.9
3 17)7

+(74)? A.29- (-4.17)

3 3 B. 29+ (+4.17)
A.-74- (7)) C. 2.9+ (-4.17)

3 3 D.29-(+4.17

. '/9 - (+/4) ( )

B

C. 3/9+(+3/4)
3 3

D.-75- (/)
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[ Mathe ] www.CommonCoreSheets.de 3




C:# Finden eines aquivalenten Ausdrucks mit negativen Zahlen Name:

L 6se jede Aufgabe. Antworten
1) Which expression(s) are equivalentto 4.2 2) Which expression(s) are equivalent to 2.1
+ (+7.82)? - (+3.4)? 1
A. 42+ (7.82) A.-2.1+(-34)
B.-4.2 +(-7.82) B. 2.1+ (-3.4) >
C.-4.2+ (+7.82) C.2.1+(+3.4)
D.-4.2- (+7.82) D.-2.1- (+3.4) ,
4.
5.
3) Which expression(s) are equivalent to -4 + 4) Which expression(s) are equivalent to 9 +
(-77? (2)? 6.
A.4+(-7) A.-9-(2)
B. 4+ (7) B.9-(-2) .
C.-4-(-7) C.-9-(+2)
D. -4-(7) D.-9-(-2) .

°) Which expression(s) are equivalent to -2/4 ) Which expression(s) are equivalent to -3/9
- ('5/7)'7 - ('1/3)?
A.- / at (+5/7) A. -3/9 + (+1/3)
B.-7,- (+7) B. /- (73)
C.7,- (-7 C. Y- (+7y)
D.-7,+(-/) D. Y- (+7)
L Which expression(s) are equivalent to 1/ - 8 Y\é%c.g)ixm on(s) are equivalent to -4.5
(-3/4 ? A. 45+ (9.6)
A Y- (% C 45+ (09
B. 1/3 + (3/4) D.4.5-(9.6)
c.-/ 3t (+7 4)
D. 75- (7
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Ch Finden eines aquivaenten Ausdrucks mit negativen Zahlen Name: L 6sungsschlussel

L 6se jede Aufgabe. Antworten
1) Which expression(s) are equivalentto 4.2 2) Which expression(s) are equivalent to 2.1
+(+7.82)? - (+3.4)? L A
A.42+(7.82) A.-2.1+(-34)
B.-4.2 + (-7.82) B. 2.1+ (-3.4) 2 B
C.-4.2+ (+7.82) C.2.1+(+3.4)
D.-4.2- (+7.82) D.-2.1- (+3.4) N D
4 B
5, A
3) Which expression(s) are equivalent to -4 + 4) Which expression(s) are equivalent to 9 +
(-7)? (2)? 6 A
A.4+(-7) A.-9-(2)
B.4+(7) B.9-(-2) 7 B
C.-4-(-7) C.-9-(+2)
D. -4-(7) D.-9-(-2) . c
5) . . . 2, 6) _ : . 3
Which expression(s) are equivalent to -/, Which expression(s) are equivalent to - /g
5 1
-(-79)? - (-79)?
5 3 1
A. - /4+(+/7) A.-7g+ (/)
2 5 3, 1
B.-7,- (+7/) B. 79- (73)
C.7,- (-7 C. Y- (+7y)
2 5 3 1
D.- /4 (/7) D. /9-(+/3)
7 8 . - . )
) Which expression(s) are equivalent to .- ) Y\ér'gcg)ixm on(s) are equivalent to -4.5
. 6)7
(-74)? A. 45 +(9.6)
L3 B.-4.5- (-9.6)
A. /3-(+7)) C.-45+(-9.6)
8. Y, + (3/4) D. 4.5 - (9.6)
C. Tyt (+7y)
1, 3
D. /3-(74)

1-8 |88|75|63]|50]38]25[13] 0 |
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C:# Finden eines aquivalenten Ausdrucks mit negativen Zahlen Name:

L 6se jede Aufgabe. Antworten
1) Which expression(s) are equivalentto9 2) Which expression(s) are equivaent to -4.42
+(6)? +(-1.16)? 1
A.9-(-6) A.4.42 + (+1.16)
B. 9+ (+6) B. 4.42 - (+1.16) >
C.-9-(6) C.-4.42 + (+1.16)
D.-9- (+6) D.-4.42 - (+1.16) ;
4.
5,
3) Which expression(s) areequivalentto  4)  Which expression(s) are equivalent to 1.57 -
-7-(+1)? (+9.14)? 6.
A.7-(-1) A. 157 - (-9.14)
B.7-(1) B.-1.57 - (-9.14) ;
C.-7- (1) C. 157 + (-9.14)
D. -7+ (+1) D.-1.57 - (+9.14) .

5 i essi i 6 . . . 9
) Which expression(s) are equivalentto  6) Which expression(s) are equivalent to -V

25-(-7.3)? )
A.25-(7.3) +(+7/9)?
B.-25- (+7.3)
C.25+(-7.3) A. -9/10 - (+2/7)
D.25+(7.3) B. 9/10 i (2/7)
C. '9/10 - (-2/7)
D. 9/10 (7
7) Which expression(s) are equivalentto  8)  Which expression(s) are equivalent to -2.98
-4-(1)? - (-54)?
A.4-(+1) A.-2.98- (+5.4)
B.4-(-1) B.2.98- (-5.4)
C.-4+(+1) C.-2.98- (5.4)
D.-4-(+1) D.-2.98 + (+5.4)
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Ch Finden eines aquivaenten Ausdrucks mit negativen Zahlen Name: L 6sungsschlussel

L 6se jede Aufgabe. Antworten
1) Which expression(s) are equivalentto9 2) Which expression(s) are equivaent to -4.42
+(6)? +(-1.16)? 1 AB
A.9-(-6) A.4.42 + (+1.16)
B. 9+ (+6) B. 4.42 - (+1.16) 2 D
C.-9-(6) C.-4.42 + (+1.16)
D.-9- (+6) D. -4.42 - (+1.16) 5 C
a4, C
5 D
3) Which expression(s) areequivalentto  4)  Which expression(s) are equivalent to 1.57 -
-7 (+1)? (+9.14)? 6. C
A.7-(-1) A. 157 - (-9.14)
B.7-(1) B.-1.57 - (-9.14) 7 D
C.-7- (1) C. 1.57 + (-9.14)
D. -7+ (+1) D.-1.57 - (+9.14) . D

5 i essi i 6 . . . 9
) Which expression(s) are equivalentto  6) Which expression(s) are equivalent to -V

25-(-7.3)? )
A.25-(7.3) +(+7/9)?
B.-25- (+7.3)
C.25+(-7.3) A. -9/10 - (+2/7)
D.25+(7.3) B. 9/10 i (2/7)
C. '9/10 - (-2/7)
D. 9/10 (7
7) Which expression(s) are equivalentto  8)  Which expression(s) are equivalent to -2.98
-4-(1)? - (-54)?
A.4-(+1) A.-2.98- (+5.4)
B.4-(-1) B.2.98- (-5.4)
C.-4+(+1) C.-2.98- (5.4)
D.-4-(+1) D.-2.98 + (+5.4)
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C:# Finden eines aquivalenten Ausdrucks mit negativen Zahlen Name:

L 6se jede Aufgabe. Antworten
Y Wrich expression(s) are equivalent to -5/7 2 Vgg ih:;p;;es on(s) are equivalent to .
(+7/5)? A.-35-(5.7)
A. 5/7 + (+1/5) CB: 3355((557? :
8. %+ (Y D.35-(5.7) N
C. Lo+ (7o)
D. 77- () )
5,
9 Which expression(s) are equivalent to 7 - 4) \(’Yl';fh expression(s) are equivalent to 3 - )
AT A3+ (+1)
A Tg+ (7 CB: -33++(i-1i) "
B. 4/8+ (- 4/5) D.-3-(1 8.

C. 4/8 79

® \Which expression(s) are equivalent to - /g - 6) V\éhi;f)‘ expression(s) are equivalent to -2
A A.2-(-1)
A. 5/8 + (+5/8) CB: g ;((+1§)
B. g+ (-7 D.-2+(+1)
C. '5/8 + ("‘5/8)
D. 5/8 - (+5 8)
L Which expression(s) are equivalent to 5/ - ) \(Nlr;',fh expression(s) are equivalent to 3 -
(+1/3)? A.3+(-1)
Yo+ (+79) P
B. 5/6 - (+1/3) D.-3-(1)
C. Y+ ()
/NS
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[ Mathe ] www.CommonCoreSheets.de 6




Ch Finden eines aquivaenten Ausdrucks mit negativen Zahlen Name: L 6sungsschlussel

L 6se jede Aufgabe. Antworten
2 Which expression(s) are equivalent to -5/7 2 Vggl ih(i);p; on(s) are equivalent to 1, C
(+70)? A.-35- (5.7)
A. 5/7 + (+1/5) CB: 3355((557? : &
8.+ (%) D.35- (5.7) N A
C. Lo+ (7o) A
D. 77- () )
5 C
9 Which expression(s) are equivalent to 7 - 4) \(Nl';fh expression(s) are equivalent to 3 - . D
(-4/5 ? A.3+(+1)
ATy (9 G i 2
B. 7y + (-7 D.-3-(-1) N C
C. 4/8 (- 4/5)
D. 75~ (+74)
® \Which expression(s) are equivalent to - /; 6) V\éhgf)‘ expression(s) are equivalent to -2
A A.2-(-1)
A. 5/8 + (+5/8) CB: g ;((+1§)
B. g+ (-7 D.-2+(+1)
C. '5/8 + ("‘5/8)
D. 75- (+7/9)
L Which expression(s) are equivalent to -5/6 - % \(Nlr;l,;:h expression(s) are equivalent to 3 -
(+1/3)? A.3+(-1)
Yo+ 7y Carpn
B. 5/6 - (+1/3) D.-3-(1)
C. Y+ ()
/NS

1-8 |88|75|63]|50]38]25[13] 0 |
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C:# Finden eines aquivalenten Ausdrucks mit negativen Zahlen Name:

L 6se jede Aufgabe. Antworten
1) Which expression(s) areequivalentto  2) Which expression(s) are equivalent to 4.11
4 2 - (-6.97)? 1
-/3- (73 (697)
s A. 411+ (+6.97)
A.-7g-(+73) B. 4.11 - (+6.97) 2.
4 C.-4.11- (6.97)
B.-/g+(+7/3) D. -4.11 + (+6.97) 3
C. 75+ (-2/3)
4, 2
D. /- (-75) 4
5,

3 i essi [ 4 . . . 7
) Which expression(s) are equivalent to ) Which expression(s) are equivaent to /- 10

Y0~ (77 (Ve 6.

9 1
A. 710+ (-7) Yo+ (7 7
B 9/10- (-1/§ A-7/10+ (17)

. 910 21 B. /10'("' 7) 8

C.-/10+(+/2) C 7/10'(4/7)

9 1 |
D.-/lo'(/z) D.-7/10+('4/7)

5) Which expression(s) are equivalentto -9  6) Which expression(s) are equivalent to 8 -

- (+5)? (9)?
A.-9-(5) A.8+(-9)
B. 9+((5)) B.8- ((-9))
C.9-(5 C.8+(9
D.9-(5) D. -8 - (+9)

7) Which expression(s) are equivalent to2 - 8) Which expression(s) are equivalent to 8.63

(7)? - (-5.2)?

A2+ (+7) A.-8.63 - (-5.2)
B.2-(+7) B.8.63- (+5.2)
C.2-(-7) C.8.63+(5.2)
D.-2-(+7) D.-8.63+ (-5.2)
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Ch Finden eines aquivaenten Ausdrucks mit negativen Zahlen Name: L 6sungsschlussel

L 0se jede Aufgabe. Antworten
1) Which expression(s) areequivalentto  2) Which expression(s) are equivalent to 4.11
4, 2 - (-6.97)? 1 A
-/3- (73
A ) A.4.11+ (+6.97)
A Ty (+79) B. 4.11 - (+6.97) 2 A
4 2 C.-4.11-(6.97)
B.-/g+(+73) D. -4.11 + (+6.97) 5 A
C. 75+ (-2/3)
D. 75~ (-73) 4 A
5, A
3 i esSi i 4 . . .
) thlchlexpr on(s) are equivalent to ) Which expression(s) are equivalent to 7/10 5 A
/10~ (72)? 2 '
9 1 '
B 9/ ( J/) /10t ( 7)
./10- (- 7 4
SR /10~ (+77) 8 C

C. -9/10 + (+1/2)
D.-710- (/)

5) Which expression(s) are equivalentto -9  6) Which expression(s) are equivalent to 8 -

- (+5)? (9)?
A.-9-(5) A.8+(-9)
B. 9+((5)) B.8- ((-9))
C.9-(5 C.8+(9
D.9-(5) D. -8 - (+9)

7) Which expression(s) are equivalent to2 - 8) Which expression(s) are equivalent to 8.63

(7)? - (-5.2)?

A2+ (+7) A.-8.63 - (-5.2)
B.2-(+7) B.8.63- (+5.2)
C.2-(-7) C.8.63+(5.2)
D.-2-(+7) D.-8.63+ (-5.2)
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C:# Finden eines aquivalenten Ausdrucks mit negativen Zahlen Name:

L 6se jede Aufgabe. Antworten
1
) Which expression(s) are equivalent to -3/7 Which expression(s) are equivalent to 1/4
C(+7)? + (72
3, 2 1 2
A.-/7-(/3) A./4-(+/3)
3 2 1, 2
B. 75+ (73) B. /- (73)
3 2 1, 2
C.-/7-(-73) C.-/4-(73)
3 2 1 2
D.77-(-73) D. /,+ (+73)
3) Which expression(s) are equivalent to 4)  Which expression(s) are equivaent to -2.6
8.56 - (-9.6)? - (+5.9)?
A. -8.56 + (+9.6) A. 2.6+ (+5.9)
B. -8.56 - (+9.6) B.-2.6- (5.9)
C. 8.56 + (-9.6) C.26-(-5.9
D. 8.56 + (+9.6) D.-2.6-(-5.9)
5) . . . 2 6) . . : 3
Which expression(s) are equivalent to /s Which expression(s) are equivalent to /g
+ (79 + (+79)?
A 2/5 + (+6/9) A. 3/9 - (5/6)
2 6 3 5
B.75- (+70) B.-7-(-7¢)
C ‘2/5 + (+6/9) C. '3/9 +(-70)
2 6 3 5
D.-75-(-79) D. 7+ (7g)
7)  Which expression(s) are equivalentto-7- 8) Which expression(s) are equivalentto 1 -
4)? (+7)?
A. 7+ (+4) A.-1-(-7)
B. 7+ (-4) B.1-(-7)
C.7-(+4) C.1+(-7)
D. -7 + (-4) D.-1-(7)
1-8 |88|75|63]|50]38]25[13] 0 |
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Ch Finden eines aquivaenten Ausdrucks mit negativen Zahlen Name: L 6sungsschlussel

L 6se jede Aufgabe. Antworten
2 Which expression(s) are equivalent to -3/7 2) Which expression(s) are equivalent to 1/4 1 A
(77 + (732
A.B
A. -3/7 - (2/3) A. ]/4 (+ 3) -
B. 7, +(Zy) B.7,- (7% 3 D
c. V-7 c.7,- (7 5
D. 7 - (79 D. 7+ (+75) ’
5, A
3) Which expression(s) are equivalent to 4)  Which expression(s) are equivaent to -2.6
8.56 - (-9.6)? - (+5.9)? 6. D
A. -8.56 + (+9.6) A. 2.6+ (+5.9)
B. -8.56 - (+9.6) B.-2.6-(5.9) 7 D
C. 8.56 + (-9.6) C.2.6-(-5.9)
D. 8.56 + (+9.6) D.-2.6 - (-5.9) . C
5) . . . 2 6) . . : 3
Which expression(s) are equivalent to /s Which expression(s) are equivalent to /g
+ (6/9)’? + (+5/6)'?
A. 2/5 + (+6/9) A. 3/9 - (5/6)
B. 75- (+/o) B. /o~ (-/9)
2 6 3 5
C.-75+ (+7) C.-79+ (-79)
7) Which expression(s) are equivalent to-7- 8) Which expression(s) are equivalent to 1 -
(4)? +nN?
A. T+ (+4) A.-1-(-7)
B.7+(-4) B.1-(-7)
C.7- (+4) C.1+(-7)
D. -7+ (-4) D.-1-(7)

1-8 |88|75|63]|50]38]25[13] 0 |
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C:# Finden eines aquivalenten Ausdrucks mit negativen Zahlen Name:

L 6se jede Aufgabe. Antworten
1 2 i ess| i 5.
) Which expression(s) are equivalent to 7/8 ) \(Ag)“,fh expression(s) are equivalent to -5

) :
+(-/4? A.-5+ (+8)

7, 2 B.-5-(8)

A.-7g- (-7 C.-5+(-8)
B. 7o+ (7 D.5+(-8)
C. -7/8 + (+2/4)

7, 2
D. /g~ (74)

3 i essi [ - 4 . . .

) \(Ag)",fh expression(s) are equivalent to 6 ) Which expression(s) are equivalent to -1/8
' 6
A. -6+ (-3) +(-/9)?
B.-6-(3) 1 6
C.6+(3) A.-/g+(+79)
D. 6+ (+3) B _1/8 i (6/9)
C. 1/8 + (+6/9)
D. /- (+6/9)

5) Which expression(s) are equivalent to -1.3 6) Which expression(s) are equivalent to -7
- (-5.12)? +(-9)?

A.13-(-5.11) A.7+(9)
B.-1.3+ (+5.11) B.-7-(-9)
C.-1.3- (+5.11) C.-7-(+9)
D.1.3- (+5.11) D.7-(-9)

7) . . . 8, 8) . . . 1
Which expression(s) are eguivalent to - /3 Which expression(s) are equivalent to /5
NVAY NGAL

8 1 1 1
A. 70+ (+75) A.-75-(-75)
8 1 1, 1
B.-/10+ (+75) B.75-(/)
8 1 1, 1
C./+ (/s C.-7/5- (/)
8 1 1 1
D.-/10- (+75) D. 75-(-75)
1-8 |88|75|63]|50]38]25[13] 0 |
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Ch Finden eines aquivaenten Ausdrucks mit negativen Zahlen Name: L 6sungsschlussel

L 6se jede Aufgabe. Antworten
D \Which expression(s) are equivalent to 7 2) \(/_\gifh expression(s) are equivalent to -5 - N D
NOAL A.-5+(+8)
7, 2 B.-5-(8) 2 A
A.-7g- (7)) C.-5+(-8)
B. 7o+ (7 D.5+(-8) 3 CD
C -7/8 + (+2/4)
7, 2 4, B,.D
D. /g~ (74)
5, B
3) \(/\g)lfh expression(s) are equivalent to6-  4) Which expression(s) are equivalent to _1/8 ) C
A.-6+(-3) + (-6/9 ?
B.-6- (3) D
C.6+(3) A. '1/8 + (+6/9) !
D.6+(+3 B. 75 (/o) 8 B

C. 1/8 + (+6/9)
D. /- (+6/9)

5) Which expression(s) are equivalent to -1.3 6) Which expression(s) are equivalent to -7

- (-5.11)? +(-9)?
A.13-(-5.11) A.7+(9)
B.-1.3+ (+5.11) B.-7-(-9)
C.-1.3- (+5.11) C.-7-(+9)
D. 13- (+5.12) D.7-(-9)

L Which expression(s) are equivalent to -8/10 8 Which expression(s) are equivalent to 1/2
(/92 - (+7)?
8 1 1
A. 70+ (+75) A. / -75)
B. '8/10 + (+1/5) B. 1/2 (1/2)
C. 8/10 + (1/5) C. 1/2 (1/2)
D. 740~ (+7) D. 75 (-7

1-8 |88|75|63]|50]38]25[13] 0 |
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C:# Finden eines aquivalenten Ausdrucks mit negativen Zahlen Name:

L 0se jede Aufgabe. Antworten
1 i eSS i 2 . . .
) \iv(r_lg:)r’l)expr on(s) are equivalent to 9 ) Which expression(s) are equivalent to 8/9 -1
H 1 -
A.9-(+8) (+/5)?
B.-9-(-8) 8, 1 2.
C.-9- (+8) A. /- (72)
9- 8 1
D.-9-(8 B. _/9_ (_/2) 3
8, 1
C.-/4- (/)
4,
D. '8/9 +(7)
5.
3) Which expression(s) areequivalentto  4) Which expression(s) are equivalent to 1.3 +
4, 5 -7.6)? 6.
ANAAY (
54 72 ; A.13-(+7.6)
A -75+(+7/7) B.-1.3- (-7.6) 7
4 5 C.1.3+(7.6)
B. /5+(/7) D. 1.3+ (+7.6) o
C. T+ (-7 |
D. -4/5 - (+5/7)

5) Which expression(s) are equivalent to 6) Which expression(s) are equivalent to 1.1 -

A Ay (-7.3)?
9 M A.-11+(-7.3)
A Fo+ (+70) B.11- (+7.3)
C.11+(7.3)
B. 6/9 - (-3/5) D. 11+ (-7.3)
c. %+ (Yo
D. 7o+ (-7

7) Which expression(s) are equivalent to3- 8) Which expression(s) are equivalent to 3.2 -

8)? (-2.97)?
A.3+(-8) A.3.2+(+2.97)
B.-3-(8) B.3.2- (+2.97)
C.-3+(-8) C.-3.2+(-2.97)
D.3-(-8) D. 3.2+ (2.97)

1-8 |88|75|63]|50]38]25[13] 0 |
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Ch Finden eines aquivaenten Ausdrucks mit negativen Zahlen Name: L 6sungsschlussel

L 6se jede Aufgabe. Antworten
b Xv(r_'g,')e)(pr on(s) are equivalentto 9 2) Which expression(s) are equivalent to 8/9 -4 A
A.9-(+8) (+75)? A
B.-9- (-8 8 1 2.
C.-9- (+8) A. /- (72)
D.-9-(8) B. Yo-(-75) 3 A
/A A
8 1 4
D. -7+ (-75)
5, D
3) Which expression(s) areequivalentto  4) Which expression(s) are equivalent to 1.3 +
4, 5 (-7.6)? 6. C
/5 (-77)?
. g A.13-(+7.6)
A.-75+(+75) B.-1.3-(-7.6) 7. A
C.1.3+(7.6)
B. 4/5 + (5/7) D. 1.3+ (+7.6)
4, 5 8 A,D
C.-/s+(-77)
D. -4/5 - (+5/7)

5) Which expression(s) are equivalent to 6) Which expression(s) are equivalent to 1.1 -

A Ay (-7.3)?
9 e A.-11+(-7.3)
A To+(+70) B.11- (+7.3)
C.11+(7.3)
B. 6/9 - (-3/5) D. 11+ (-7.3)
c. %+ (Yo
D. 7o+ (-7

7) Which expression(s) are equivalent to3- 8) Which expression(s) are equivalent to 3.2 -

8)? (-2.97)?
A.3+(-8) A.3.2+(+2.97)
B.-3-(8) B.3.2- (+2.97)
C.-3+(-8) C.-3.2+(-2.97)
D.3-(-8) D. 3.2+ (2.97)

1-8 |88|75|63]|50]38]25[13] 0 |
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